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QUADRILATERALS

lllustrative Examples

1. ABCD is a parallelogram and ZA = 60°. Find the

remaining angles.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0vo9t6Zs6aOM
https://dl.doubtnut.com/l/_EVTf4pceC8ZU

2.In a parallelogram ABCD, /DAB = 40° find the

other angles of the parallelogram.

o Watch Video Solution

3. Two adjacent sides of a parallelogram are 4.5 cm

and 3 cm. Find its perimeter.

° Watch Video Solution

4. In a parallelogram ABCD, the bisectors of the

consecutive angles angleA and angleB intersect at P.

Show that ZAPB = 90°.

| o |


https://dl.doubtnut.com/l/_EVTf4pceC8ZU
https://dl.doubtnut.com/l/_PoQmnJJ8KCI1
https://dl.doubtnut.com/l/_9w6Jxq6ck4Xd

l & Watch Video Solution J

— —
5. AB and DC are two parallel lines and a

. — —
transversal |, intersects AB at P and DC at R.

Prove that the bisectors of the interior angles form a

rectangle.

o Watch Video Solution

6. In a triangle ABC, AD is the median drawn on the
side BC is produced to E such that AD = ED prove

that ABEC is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_9w6Jxq6ck4Xd
https://dl.doubtnut.com/l/_m8xmzGrBRyK4
https://dl.doubtnut.com/l/_TijRNL1KppQX

7.In AABC, D, E and F are the midpoints of sides
AB, BC and CA respectively. Show that AABC is
divided into four congruent triangles, when the three
midpoints are joined to each other. (ADEF is called

medial triangle)

° Watch Video Solution

8.1, m and n are three parallel lines intersected by the
transversals p and q at A, B, C and D;E, F such that they
make equal intercepts AB and BC on the transversal p.
Show that the intercepts DE and EF on q are also

equal.

| o |


https://dl.doubtnut.com/l/_C2spkZICcypa
https://dl.doubtnut.com/l/_cDwyCuqGSO4V

l & Watch Video Solution J

9. In the Fig. AD and BE are medians of

AABC and BE||DF.Prove that CF = (1)(4)AC.

o Watch Video Solution

10. ABC is a triangle and through A, B, C lines are
drawn parallel to BC,CA and AB respectively
intersecting at P, Q and R. Prove that the perimeter of

APQR is double the perimeter of AABC.

° Watch Video Solution



https://dl.doubtnut.com/l/_cDwyCuqGSO4V
https://dl.doubtnut.com/l/_WSVftEDfQSOx
https://dl.doubtnut.com/l/_72Wm1MlyJU4I
https://dl.doubtnut.com/l/_DqQE8xX0uTMq

1. ABCD is a parallelogram and ZA = 60°. Find the

remaining angles.

o Watch Video Solution

12.1n a parallelogram ABCD, /DAB = 40° find the

other angles of the parallelogram.

o Watch Video Solution

13. Two adjacent sides of a parallelogram are 4.5 cm

and 3 cm. Find its perimeter.

° Watch Video Solution



https://dl.doubtnut.com/l/_DqQE8xX0uTMq
https://dl.doubtnut.com/l/_GQQcCHgbTgI4
https://dl.doubtnut.com/l/_3VG909rmOdVJ

14. In a parallelogram ABCD, the bisectors of the
consecutive angles angleA and angleB intersect at P.

Show that ZAPB = 90°.

° Watch Video Solution

15. In a triangle ABC, AD is the median drawn on the
side BC is produced to E such that AD = ED prove

that ABEC is a parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_3VG909rmOdVJ
https://dl.doubtnut.com/l/_7iwmfqMZuAxd
https://dl.doubtnut.com/l/_8qcqAGKTf9Nj

16. In the Fig. AD and BE are medians of

1
A\ ABC and BE||DF .Prove that CF = 1 AC.

o Watch Video Solution

17. ABC is a triangle and through A, B, C lines are
drawn parallel to BC,CA and AB respectively
intersecting at P, Q and R. Prove that the perimeter of

APQR is double the perimeter of AABC.

o Watch Video Solution

Think Discuss And Write


https://dl.doubtnut.com/l/_HgUeOlruotsp
https://dl.doubtnut.com/l/_h8S4MDinkfAi
https://dl.doubtnut.com/l/_LLpT9ibbf1pI

1. Show that the diagonals of a square are equal and

right bisectors of each other.

o Watch Video Solution

2.Show that the diagonals of a rhombus divide it into

four congruent triangles.

° Watch Video Solution

3. Show that the diagonals of a square are equal and

right bisectors of each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_LLpT9ibbf1pI
https://dl.doubtnut.com/l/_7kqKutm2yt9u
https://dl.doubtnut.com/l/_o2d0mO8bqOU9

4. Show that the diagonals of a rhombus divide it into

four congruent triangles.

o Watch Video Solution

1. Extend AB to E . Find ZCBE. What do you notice.

What kind of angles are ZABC and Z/CBE?

D C

40°



https://dl.doubtnut.com/l/_o2d0mO8bqOU9
https://dl.doubtnut.com/l/_CRuRA7WDTuVm
https://dl.doubtnut.com/l/_HYifN9TPb2dS

° Watch Video Solution

2. Draw a triangle ABC and mark the midpoints E and F
of two sides of triangle. AB and AC respectively.
Join the point E and F as shown in the figure.

Measure EF and the third side BC of the triangle. Also
measure ZAEF and ZABC.

We find ZAEF = /ABC and EF = %B—C

As these are corresponding angles made by the


https://dl.doubtnut.com/l/_HYifN9TPb2dS
https://dl.doubtnut.com/l/_ZNBLNJlDUjUc

transversal AB with lines EF and BC, we say EF'|| BC.

B i

o Watch Video Solution

3. Extend AB to E . Find ZCBE. What do you notice.

What kind of angles are ZABC and Z/CBE?


https://dl.doubtnut.com/l/_ZNBLNJlDUjUc
https://dl.doubtnut.com/l/_HwgH5gatZQmD

40°

° Watch Video Solution

4. Cut out a parallelogram from a sheet of paper again
and cut along one of its diagonal. What kind of shapes

you obtain ? What can you say about these triangles ?

o Watch Video Solution



https://dl.doubtnut.com/l/_HwgH5gatZQmD
https://dl.doubtnut.com/l/_caDlfNYRbFzq
https://dl.doubtnut.com/l/_upCej7AH2WAk

1. State whether the statements are True or False.

(1) Every parallelogram is a trapezium ()

o Watch Video Solution

2. State whether the statements are True or False.

(i1) All parallelograms are quadrilaterals ()

o Watch Video Solution

3. State whether the statements are True or False.

(iii) All trapeziums are parallelograms ()

o Watch Video Solution



https://dl.doubtnut.com/l/_upCej7AH2WAk
https://dl.doubtnut.com/l/_EAHLci7gn74g
https://dl.doubtnut.com/l/_zKKCr5O8bo32

4. State whether the statements are True or False.

(iv) A square is a rhombus ()

o Watch Video Solution

5. State whether the statements are True or False.

(v) Every rhombus is a square ()

° Watch Video Solution

6. State whether the statements are True or False.

(vi) All parallelograms are rectangles

| &


https://dl.doubtnut.com/l/_zKKCr5O8bo32
https://dl.doubtnut.com/l/_1T0iXljp3Hnh
https://dl.doubtnut.com/l/_A9JJIcWJtKiH
https://dl.doubtnut.com/l/_b6QKrXHHbNC4

[ W Watch Video Solution ]

7. Complete the following table by writing (YES) if the
property holds for the particular Quadrilateral and

(NO) if property does not holds.

Properties Trapezium | Parallelogram | Rhombus| Rectangle  square

a. Only one pair of opposite YES
sides are parallel

b. Two pairs of opposite
sides are parallel

c¢. Opposite sides are
equal

d.  Opposite angles
are equal

e. Consecutive angles
are supplementary

f  Diagonals
bisect each other

g  Dhagonals are equal

h  Allsides are equal

i Eachangleisa
right angle

° Watch Video Solution



https://dl.doubtnut.com/l/_b6QKrXHHbNC4
https://dl.doubtnut.com/l/_HY2Cztod6e5I
https://dl.doubtnut.com/l/_exyGxGyXCwFY

8. ABCD is trapezium in which AB||CD.If AD = BC,

show that /A = /B and ZC = /D.

o Watch Video Solution

9. The four angles of a quadrilateral are in the ratio 1:
2:3:4. Find the measure of each angle of the

quadrilateral.

o Watch Video Solution

10. ABCD is a rectangle AC is diagonal. Find the nature

of AACD. Give reasons.

[ ° AL _L vl e~_ .. ]


https://dl.doubtnut.com/l/_exyGxGyXCwFY
https://dl.doubtnut.com/l/_YjJIDAdOrAg5
https://dl.doubtnut.com/l/_W0tWnV5AW3C3

{ ™ Vvvdillil viUCo o0IuLivill )

11. ABCD is trapezium in which AB||CD.If AD = BC,

showthat /A = /B and ZC and ZD.

o Watch Video Solution

12. The four angles of a quadrilateral are in the ratio 1:
2:3:4. Find the measure of each angle of the

quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_W0tWnV5AW3C3
https://dl.doubtnut.com/l/_NtgMfXWJqbkM
https://dl.doubtnut.com/l/_8epUGGtjNqBp

13. ABCD is a rectangle AC is diagonal. Find the nature

of AACD. Give reasons.

o Watch Video Solution

1. In the adjacent figure ABCD is a parallelogram ABEF

is a rectangle show that AAFD =~ ABEC.


https://dl.doubtnut.com/l/_SO1wxbAT4LhC
https://dl.doubtnut.com/l/_6FbnEtMUoLh5

° Watch Video Solution

2. Show that the diagonals of a rhombus divide it into

four congruent triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_6FbnEtMUoLh5
https://dl.doubtnut.com/l/_JHrMtNcY2GpL

3. If a quadrilateral ABCD, the bisector of ZC/D

intersect at O.

1
Prove that ZCOD = E(LA + /B)

o Watch Video Solution

4. Show that the diagonals of a rhombus divide it into

four congruent triangles.

o Watch Video Solution

5. If a quadrilateral ABCD, the bisector of ZC'ZD

intersect at O.


https://dl.doubtnut.com/l/_26O166oF3tIe
https://dl.doubtnut.com/l/_Rdivd8KBblFe
https://dl.doubtnut.com/l/_eQxs42QdHIK1

1
Prove that ZCOD = E(AA + /B)

° Watch Video Solution

1. The opposite angles of a parallelogram are

(3z —2)° and (x + 48)°.

Find the measure of each angle of the parallelogram.

° Watch Video Solution

2. Find the measure of all the angles of a

parallelogram, if one angle is 24° less than the twice


https://dl.doubtnut.com/l/_eQxs42QdHIK1
https://dl.doubtnut.com/l/_s8IWaNQN3tEj
https://dl.doubtnut.com/l/_1BkcyBtV4k0w

of the smallest angle.

o Watch Video Solution

3.In the adjacent figure ABCD is a parallelogram and E
is the midpoint of the side BC. If DE and AB are

produced to meet at F, show that AF = 2AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_1BkcyBtV4k0w
https://dl.doubtnut.com/l/_PonSfxC7XHz4

4.In the adjacent figure ABCD is a parallelogram P and
Q are the midpoints of sides AB and DC respectively.

Show that PBCQ is also a parallelogram.

D Q C

S
P

o Watch Video Solution

5. ABC is an isosceles triangle in which

AB = AC. AD bisects exterior angle


https://dl.doubtnut.com/l/_WERxXzVE3hlL
https://dl.doubtnut.com/l/_4NZLeSZIvPvd

QAC and CD||BA as shown in the figure. Show
that
(i) £DAC = /BCA

(ii) ABCD is a parallelogram

/IQ

° Watch Video Solution

6. ABCD is a parallelogram AP and CQ are

perpendiculars drawn from vertices A and C on


https://dl.doubtnut.com/l/_4NZLeSZIvPvd
https://dl.doubtnut.com/l/_DfcZJJIMVPGX

diagonal BD (see figure) show that
(i) AAPB = ACQD

(i) AP = CQ

° Watch Video Solution

7. In
A*ABC and , AB||DE, BC = EF and BC||EF.
Vertices A, B and C are joined to vertices D, E and F

respectively (see figure). Show that


https://dl.doubtnut.com/l/_DfcZJJIMVPGX
https://dl.doubtnut.com/l/_06zjgn7hSZBc

(i) ABED is a parallelogram
(i1) BCFE is a parallelogram
(ili) AC = DF

(iv AABC =~ ADEF

A - 2D

C

o Watch Video Solution

8. ABCD is a parallelogram. AC and BD are the
diagonals intersect at O. P and Q are the points of tri

section of the diagonal BD. Prove that CQ ||AP and


https://dl.doubtnut.com/l/_06zjgn7hSZBc
https://dl.doubtnut.com/l/_ODtGep4hqysC

also AC bisects PQ (see figure).

o Watch Video Solution

9. ABCD is a square. E, F, G and H are the mid points of
AB,BC,CD and DA respectively. Such that

AFE = BF = CG = DH. Prove that EFGH is a

square.

° Watch Video Solution



https://dl.doubtnut.com/l/_ODtGep4hqysC
https://dl.doubtnut.com/l/_9XJagMMpdnAB
https://dl.doubtnut.com/l/_otMXaA5PAunD

10. The opposite angles of a parallelogram are
(3z —2)° and (z +48)°.

Find the measure of each angle of the parallelogram.

° Watch Video Solution

1. Find the measure of all the angles of a
parallelogram, if one angle is 24° less than the twice

of the smallest angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_otMXaA5PAunD
https://dl.doubtnut.com/l/_ILk33kvkFUml

12. ABCD is a square. E, F, G and H are the mid points of
AB,BC,CD and DA respectively. Such that

AF = BF = CG = DH. Prove that EFGH is a

square.

o Watch Video Solution

1. ABC is a triangle . D is a point of AB such that
1
AD = ZAB and E is a point on AC such that

1
AFE = ZAC. If DE = 2¢m find BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bwp98yXv31ti
https://dl.doubtnut.com/l/_sNhqSLTHAIoI

2. ABCD is quadrilateral E, F, G and H are the midpoints

of AB, BC,CD and DA respectively. Prove that

EFGH is a parallelogram.

o Watch Video Solution

3. Show that the figure formed by joining the
midpoints of sides of a rhombus successively is a

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_sNhqSLTHAIoI
https://dl.doubtnut.com/l/_HRQTlANxcjUV
https://dl.doubtnut.com/l/_X3zoHz9oKhIZ

4. In a parallelogram ABCD, E and F are the midpoints

of the sides AB and DC respectively. Show that the line

segments AF and EC trisect the diagonal BD.

D

[
I

\\ i
P

I
| &

v

F,____C
V4

A F

J

° Watch Video Solution



https://dl.doubtnut.com/l/_P3IeQk21O7Vs

5. Show that the line segments joining the midpoints
of the opposite sides of a quadrilateral and bisect

each other.

o Watch Video Solution

6. ABC is a triangle right angled at C. A line through
the midpoint M of hypotenuse AB and Parallel to BC
intersects AC at D. Show that

(i) D is the midpoint of AC

(i MD 1 AC


https://dl.doubtnut.com/l/_lwlTMJuS0eUS
https://dl.doubtnut.com/l/_kMoBYBKuap4j

1
(i) CM = MA = EAB.

®
‘] "
o

o Watch Video Solution

7. ABC is a triangle . D is a point of AB such that
1
AD = ZAB and E is a point on AC such that

1
AFE = ZAC’. If DE = 2¢m find BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_kMoBYBKuap4j
https://dl.doubtnut.com/l/_NfFdPxz4Lcwe

8. ABCD is quadrilateral E, F, G and H are the midpoints

of AB, BC,CD and DA respectively. Prove that

EFGH is a parallelogram.

o Watch Video Solution

9. Show that the figure formed by joining the
midpoints of sides of a rhombus successively is a

rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_NfFdPxz4Lcwe
https://dl.doubtnut.com/l/_RIVX12AGjSMG
https://dl.doubtnut.com/l/_eA9T22F37BQb

10. Show that the line segments joining the midpoints
of the opposite sides of a quadrilateral and bisect

each other.

° Watch Video Solution

1. State whether the statements are True or False.

(i) Every parallelogram is a trapezium ()

o Watch Video Solution



https://dl.doubtnut.com/l/_yw1BT3s0VFGF
https://dl.doubtnut.com/l/_EW9cjGZDBmOV

2. State whether the statements are True or False.

(ii) All parallelograms are quadrilaterals ()

o Watch Video Solution

3. State whether the statements are True or False.

(iii) All trapeziums are parallelograms ()

° Watch Video Solution

4, State whether the statements are True or False.

(iv) A square is a rhombus ()

o Watch Video Solution



https://dl.doubtnut.com/l/_qnQUlyEpoxqN
https://dl.doubtnut.com/l/_mL1e3vCRfZvp
https://dl.doubtnut.com/l/_dFdC9SmjQmez

5. State whether the statements are True or False.

(v) Every rhombus is a square ()

° Watch Video Solution

6. State whether the statements are True or False.

(vi) All parallelograms are rectangles

° Watch Video Solution

7. Complete the following table by writing (YES) if the

property holds for the particular Quadrilateral and


https://dl.doubtnut.com/l/_dFdC9SmjQmez
https://dl.doubtnut.com/l/_9r3FHsVpMymG
https://dl.doubtnut.com/l/_Ch76zO7h4iis
https://dl.doubtnut.com/l/_Ub0MFkLAB79W

(NO) if property does not holds.

Properties Trapezium | Parallelogram | Rhombus | Rectangle sqnare:
a. Only one pair of oppasite | YES
sides are parallel

b.  Two pairs of opposite
sides are parallel

¢. Opposite sides are

o Watch Video Solution

8. ABCD is trapezium in which AB||CD. If AD = BC,

showthat /A = /B and ZC and /ZD.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ub0MFkLAB79W
https://dl.doubtnut.com/l/_TBDFzHBTMCSw

9. The four angles of a quadrilateral is in the ratio of 1
2:3:4. Find the measure of each angle of the

quadrilateral.

o Watch Video Solution

10. ABCD is a rectangle AC is diagonal. Find the nature

of AACD. Give reasons.

o Watch Video Solution

11. In the adjacent figure ABCD is a parallelogram ABEF

is a rectangle show that AAFD =~ ABEC.


https://dl.doubtnut.com/l/_F5RCKqMnDP2N
https://dl.doubtnut.com/l/_G7CbtXhXLpGo
https://dl.doubtnut.com/l/_pOvgxrO75Sey

° Watch Video Solution

12. Show that the diagonals of a rhombus divide it

into four congruent triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_pOvgxrO75Sey
https://dl.doubtnut.com/l/_wxKEIW80vh0d

13. If a quadrilateral ABCD, the bisector of ZC/D
intersect at O.

1
Prove that ZCOD = E(LA + /B)

o Watch Video Solution

14. The opposite angles of a parallelogram are
(3z — 2)° and (z + 48)°. Find the measure of each

angle of the parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_PTvIEsqNfD1E
https://dl.doubtnut.com/l/_S1mKnwG9vFqK

15. Find the measure of all the angles of a
parallelogram, if one angle is 24° less than the twice

of the smallest angle.

o Watch Video Solution

16. In the adjacent figure ABCD is a parallelogram and
E is the midpoint of the side BC. If DE and AB are

produced to meet at F, show that AF = 2AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_m2FkGXac2HSb
https://dl.doubtnut.com/l/_E0tzdOo8xJTi

17. In the adjacent figure a parallelogram and P, Q are
the midpoints of sides AB and DC respectively. Show

that PBCQ is also a parallelogram.

o Watch Video Solution

18. ABC is an isosceles triangle in which
AB = AC. AD bisects exterior angle
QAC and CD||BA as shown in the figure. Show
that

(i) £DAC = ZBCA


https://dl.doubtnut.com/l/_LPZQ5OAoV9Xr
https://dl.doubtnut.com/l/_DdgoeVjHkksh

(i) ABCD is a parallelogram

/IQ

° Watch Video Solution

19. ABC is an isosceles triangle in which
AB = AC. AD bisects exterior angle
QAC and CD||BA as shown in the figure. Show
that

(i) £DAC = Z/BCA


https://dl.doubtnut.com/l/_DdgoeVjHkksh
https://dl.doubtnut.com/l/_xRA80o9khoRk

(i) ABCD is a parallelogram

/IQ

° Watch Video Solution

20. ABCD is a parallelogram and AP and CQ are

perpendicular from vertices A and C on diagonal BD


https://dl.doubtnut.com/l/_xRA80o9khoRk
https://dl.doubtnut.com/l/_n5pZvt6EFLbu

(see figure) show that : A APB ~= A CQD

D | B -

o Watch Video Solution

21. ABCD is a parallelogram AP and CQ are
perpendiculars drawn from vertices A and C on

diagonal BD (see figure).Show that : i)


https://dl.doubtnut.com/l/_n5pZvt6EFLbu
https://dl.doubtnut.com/l/_rv0EhFuYsrFW

AAPB = ACQD.

D,

A B

o Watch Video Solution

22. In A° ABC and DEF, DE and AB/| | DE,
BC = EF and BC | | EF. Vertices A, B and C are

joined to vertices D, E and F respectively (see figure).


https://dl.doubtnut.com/l/_rv0EhFuYsrFW
https://dl.doubtnut.com/l/_WHgkehLgMDM9

Show that : ABED is a parallelogram.

° Watch Video Solution

23. In A® ABC and DEF, DE and AB/| | DE,
BC = EF and BC | | EF. Vertices A, B and C are

joined to vertices D, E and F respectively (see figure).


https://dl.doubtnut.com/l/_WHgkehLgMDM9
https://dl.doubtnut.com/l/_m7imD8oA7WXM

Show that : BCFE is a parallelogram.

° Watch Video Solution

24.In A® ABC and DEF,DE and AB | | DE, BC=EF and
BC | | EF. Vertices A, B and C are joined to vertices

D, E and F respectively (see figure). Show that :


https://dl.doubtnut.com/l/_m7imD8oA7WXM
https://dl.doubtnut.com/l/_x2AhlYuoKMQN

° Watch Video Solution

25.1n A® ABC and DEF,DE and AB | | DE, BC=EF and
BC | | EF. Vertices A, B and C are joined to vertices

D, E and F respectively (see figure). Show that :


https://dl.doubtnut.com/l/_x2AhlYuoKMQN
https://dl.doubtnut.com/l/_9oFa8kTTTERR

AN ABC ~= AN DEF

° Watch Video Solution

26. ABCD is a parallelogram. AC and BD are the
diagonals intersect at O. P and Q are the points of tri

section of the diagonal BD. Prove that CQ ||AP and


https://dl.doubtnut.com/l/_9oFa8kTTTERR
https://dl.doubtnut.com/l/_UTgCI6M2qCLc

also AC bisects PQ (see figure).

o Watch Video Solution

27. ABCD is a square. E, F, G and H are the mid points
of AB, BC,CD and DA respectively. Such that

AFE = BF = CG = DH. Prove that EFGH is a

square.

° Watch Video Solution



https://dl.doubtnut.com/l/_UTgCI6M2qCLc
https://dl.doubtnut.com/l/_HFGm4DQobcGG
https://dl.doubtnut.com/l/_0vn6KUwHH8DB

28. Draw a triangle ABC and mark the midpoints E and
F of two sides of triangle. AB and AC respectively.
Join the point E and F as shown in the figure.

Measure EF and the third side BC of the triangle. Also
measure ZAEF and ZABC.

We find ZAEF = ZABC and EF = %ﬁ:

As these are corresponding angles made by the


https://dl.doubtnut.com/l/_0vn6KUwHH8DB

transversal AB with lines EF and BC, we say EF'|| BC.

a

By’ «F

B i

o Watch Video Solution

29. ABC is a triangle . D is a point of AB such that

1
AD = ZAB and E is a point on AC such that

1
AFE = ZAC. If DE = 2¢m find BC.

e~ ]


https://dl.doubtnut.com/l/_0vn6KUwHH8DB
https://dl.doubtnut.com/l/_K8MpHnEfEWhQ

| ¥ Vvatch video Solution ]

30. ABCD is quadrilateral E, F, G and H are the
midpoints of AB, BC,CD and DA respectively.

Prove that EFGH is a parallelogram.

° Watch Video Solution

31. Show that the figure formed by joining the
midpoints of sides of a rhombus successively is a

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_K8MpHnEfEWhQ
https://dl.doubtnut.com/l/_J2GEVhj9Nt3K
https://dl.doubtnut.com/l/_U5XeyU1d4Iiu
https://dl.doubtnut.com/l/_b0iVygBxMgbY

32.In a parallelogram ABCD, E and F are the midpoints
of the sides AB and DC respectively. Show that the line

segments AF and EC trisect the diagonal BD.

D

[
I

F.____C
V4

N
)
/

A

F

o Watch Video Solution



https://dl.doubtnut.com/l/_b0iVygBxMgbY

33. Show that the line segments joining the midpoints
of the opposite sides of a quadrilateral and bisect

each other.

o Watch Video Solution

34.ABC is a triangle right angled at 'C'. A line through

the midpoint M of hypotenuse AB and parallel to BC


https://dl.doubtnut.com/l/_2QNYEUFstiAs
https://dl.doubtnut.com/l/_HeXuozS5pN9m

intersects AC at D. Show that : D is the midpoint of AC.

A -

o Watch Video Solution



https://dl.doubtnut.com/l/_HeXuozS5pN9m

35. ABC is a triangle right angled at C. A line through

the midpoint M of hypotenuse AB and parallel to BC

Intersects AC at D. Show that : MD 1 AC

A o

o Watch Video Solution



https://dl.doubtnut.com/l/_xNf9bSQbSP24

36. ABC is a triangle right angled at 'C'. A line through

the midpoint M of hypotenuse AB and parallel to BC

1
intersects AC at D. Show that : CM = MA = EAB X



https://dl.doubtnut.com/l/_60DVnZGLXNfL

{ ™ Vvald vidco >01ution ]

37. ABCD is a parallelogram and P is a point of CD.

Show that ar( A ABP) =ar( A ADP + A BCP).

° Watch Video Solution

38. PQRS is a parallelogram. K. L are the midpoints on
PQ, RS respectively. PL intersects SK at M and RK
and QL intersects at N. Show that KNLM is a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_60DVnZGLXNfL
https://dl.doubtnut.com/l/_RTQFTAWqL6hn
https://dl.doubtnut.com/l/_Yg9av2OHCzTz
https://dl.doubtnut.com/l/_f53JXqEpx7n1

39. ABCD is a parallelogram and P, Q are the mid
points of AD and BC respectively such that AP=1/3AD

and CQ=1/3BC,Show that : AQCP is a parallelogram.

° Watch Video Solution

40. ABCD is a parallelogram and P, Q are the mid
points of AD and BC respectively. Show that : BD

and PQ bisect each other.

o Watch Video Solution

41. In A ABC, AD is the median on BC. 'E'is the

midpoint of AD. Draw BF through E. Show that


https://dl.doubtnut.com/l/_f53JXqEpx7n1
https://dl.doubtnut.com/l/_pXaoSaopVj7q
https://dl.doubtnut.com/l/_tj2gQkba2xZZ

AF =1/3AC

o Watch Video Solution

42. In a Parallelogram PQORS,

ZSPQ = 70° and ZSQR = 65°. Find the other

angles of the parallelogram.

o Watch Video Solution

43. In a parallelogram ABCD, ZABC = 50° Find the

other angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_tj2gQkba2xZZ
https://dl.doubtnut.com/l/_RharlYT3xgEw
https://dl.doubtnut.com/l/_2Eeufp2ChuGa

44.The four angles of a quadrilateral is in the ratio of

3:4:5: 6. Find the measure of each angle.

o Watch Video Solution

45. The four angles of a quadrilateral is in the ratio of

2 : 3:5: 8. Find the measure of each angle.

° Watch Video Solution

46. The opposite angles of a parallelogram are
(2z —3)° and (z +4)°. Find each angle of its

angles.



https://dl.doubtnut.com/l/_q1TW1BbS2dVN
https://dl.doubtnut.com/l/_5jTFz93F5w3y
https://dl.doubtnut.com/l/_shyTZJSPh1a2

[ ° Watch Video Solution

47. In A ABC, P, Q, R are the mid points of

AB, BC, CA respectively. If area of A POR = 3 sq.

units. Find the area of the /A ABC.

o Watch Video Solution

48. The sum of the measures of two con secutive sides

of a parallelogram is 18 cm. Find its perimeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_shyTZJSPh1a2
https://dl.doubtnut.com/l/_XyWdSeuzeprC
https://dl.doubtnut.com/l/_mg67jvCu12uN

49.In A ABC, D, E, F are the mid-points of AB, BC,

CA and if AB=11 cm, BC =9 cm, CA = 8cm. Find the

lengths of DE, EF and DF.



https://dl.doubtnut.com/l/_lrYEsteGel9q

\ ° Watch Video Solution

50. In A PQR, A, B, C are the mid-points of

PQ, QR, RP and if AB=4 cm, BC=6cm, AC=5cm. Find

PO, QR, RP.

o Watch Video Solution

51. ABCD is a trapezium. AB || CD, P, Q are the mid-
points AD and BC respectively. fAB = 10cm, CD=18

cm, then PQ=?

o Watch Video Solution



https://dl.doubtnut.com/l/_lrYEsteGel9q
https://dl.doubtnut.com/l/_aOGxRyeqEOv9
https://dl.doubtnut.com/l/_lJYlXGxBLtMB
https://dl.doubtnut.com/l/_GDOe4eAUIoMr

52. KLMN is a trapezium and KL || MN. P, Q are the
midpoints of KN and LM respectively. If KL = 18cm,

PQ=10 cm, Find MN=?

o Watch Video Solution

53. ABC is a triangle . D is a point of AB such that

1

AD = ZAB and E is a point on AC such that
1

AFE = ZAC. If DE = 2cm find BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_GDOe4eAUIoMr
https://dl.doubtnut.com/l/_2UHAwlrrobTF

54.In A KLM, P is the midpoint of KL. such that KP

1 1
= ZKL and Q is the midpoint on KM such that KQ:Z

KM and if PQ =11 cm. Find LM?

o Watch Video Solution

55. Any two consecutive angles of a parallelogram are

A. Equal

B. Supplementary

C. Complementary

D. Obtuse


https://dl.doubtnut.com/l/_bhOGVXj1cU9z
https://dl.doubtnut.com/l/_XEnX0wq5aHsN

Answer:

° Watch Video Solution

56. Show that the diagonals of a square are equal and

right bisectors of each other.

A. Trapezium
B. Rectangle
C. Rhombus

D. square

Answer:

[ o WMilakda \ 2t daa CAli ikt an ]



https://dl.doubtnut.com/l/_XEnX0wq5aHsN
https://dl.doubtnut.com/l/_rSN1mZIy16Bq

YVdadlilil VIUCU JUVIULIVII J

57. If a parallelogram has its sides equal and each

angle is 90°, then it is called

A. Rhombus

B. Rectangle

C. Square

D. Trapezium

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rSN1mZIy16Bq
https://dl.doubtnut.com/l/_DCw7wBQtzWOj

58. In a parallelogram PQRS, if /P = 70°, then ZR=

B.70°
C.290°

D.20°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ig8Fr8OB7ngl

59. If two adjacent sides of a parallelogram are 3.5,

6cms. Then its perimeteris .

A 9.5

B.15.5

C.18

D.19

Answer:

o Watch Video Solution

60. The angle bisectors of a parallelogram form a


https://dl.doubtnut.com/l/_i4VoBkzdA51d
https://dl.doubtnut.com/l/_dsEptaGuDAhM

A. Square

B. Rhombus

C. Rectangle

D. Parallelogram

Answer:

o Watch Video Solution

61. In the adjacent figure ABCD is a parallelogram

angle A=50"@ and angle c=?

A.50°

B.130°


https://dl.doubtnut.com/l/_dsEptaGuDAhM
https://dl.doubtnut.com/l/_kRDL53SHNSEP

C.80°

D. 40°

Answer:

° Watch Video Solution

62. In A ABC, AD and BE are the midpoints of
BC and AC.If AC = 10cm, then CE =

A.5cm

B.— cm

C.2.5cm

D. 3.5cm


https://dl.doubtnut.com/l/_kRDL53SHNSEP
https://dl.doubtnut.com/l/_tBAxbQXOrD7S

Answer:

o Watch Video Solution

63. ABCD is a trapezium in which AB | | CD.Pand Q
are midpoints of AD andBC respectively. If

AB = 10cm, PQ=8 cm, then C'D =

A.5cm
B.4 cm
C.9cm

D. becm

Answer:


https://dl.doubtnut.com/l/_tBAxbQXOrD7S
https://dl.doubtnut.com/l/_tRCePoZ0oURL

o Watch Video Solution

64. In a figure PQ|/|BC and P, Q are midpoints of AB,

AC respectively. If PQQ = 4cm,then BC = _

A.6cm
B.7 cm
C.8cm

D.16 cm

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tRCePoZ0oURL
https://dl.doubtnut.com/l/_ylg605vEQtFk
https://dl.doubtnut.com/l/_Uuv9wsXk9O7g

65. Fill in the Blanks :A figure formed by joining the

mid points of a parallelogram is

° Watch Video Solution

66. Fill in the Blanks:If the mid-points of the sides of a

square are joined the figure so formed is__

° Watch Video Solution

67. Fill in the Blanks:The sum of four angles in a

quadrilateralis_ right angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_Uuv9wsXk9O7g
https://dl.doubtnut.com/l/_su82kGrr4whG
https://dl.doubtnut.com/l/_MgPHuaIxXOMV

68. Fill in the Blanks:In a parallelogram PQRS, the

bisectors of consecutive angles P and Q intersect at K.

/PKQ= .

o Watch Video Solution

69. The angles of a quadrilateral are in ratio of 2:3:4:6.

Find the measure of smallest angle.

° Watch Video Solution



https://dl.doubtnut.com/l/_MgPHuaIxXOMV
https://dl.doubtnut.com/l/_PuX4A8c4K3KH
https://dl.doubtnut.com/l/_e7cEpxKsA6vB

70. A parallelogram in which two adjacent sides are

equal is a ...

o Watch Video Solution

71.Fill in the Blanks:The diagonals of a rhombus divide

itinto_ congruent angles.

o Watch Video Solution

72. Fill in the Blanks:The diagonals of a rectangle are

of

o Watch Video Solution



https://dl.doubtnut.com/l/_GagW1z5ipKZP
https://dl.doubtnut.com/l/_K4HtxhYPP8mb
https://dl.doubtnut.com/l/_VotIQDPrk7hw

73. Fill in the Blanks:The diagonals of a square are

equal and each other.

o Watch Video Solution

74. Fill in the Blanks:The ratio of areas of a triangle
and 9 par allelogram are on the base and between the

same parallel lines is

o Watch Video Solution



https://dl.doubtnut.com/l/_VotIQDPrk7hw
https://dl.doubtnut.com/l/_iO3i5eoKE09z
https://dl.doubtnut.com/l/_yzQvKawbZ0jH

75. ABCD is a parallelogram and P is a point of CD.

Show that ar( A ABP)=ar( A ADP + /A BCP).

o Watch Video Solution

76.1f A = 45° then find the value of tan 2A.

° Watch Video Solution

77. In a parallelogram ABCD, ZABC = 50° Find the

other angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_f2tzdgrJaPAj
https://dl.doubtnut.com/l/_cLTzXUDb8dH1
https://dl.doubtnut.com/l/_U5TGbjM7pC7H

78. The four angles of a quadrilateral is in the ratio of

2: 3:5:8. Find the measure of each angle.

o Watch Video Solution

79. If the sum of two adjacent sides of a parallelogram

is 32 cm. Find its perimeter.

° Watch Video Solution

80.In A KLM, P is the midpoint of KL. such that KP

1 1
= ZKL and Q is the midpoint on KM such that KQ:Z

KM and if PQ =11 cm. Find LM?



https://dl.doubtnut.com/l/_GuSxndBwQ3bO
https://dl.doubtnut.com/l/_IjcQrEmcn9jx
https://dl.doubtnut.com/l/_ZVQDcxUxmedk

‘ o Watch Video Solution

1. ABCD is a parallelogram and ZA = 60°. Find the

remaining angles.

o Watch Video Solution

2.In a parallelogram ABCD, /DAB = 40° find the

other angles of the parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVQDcxUxmedk
https://dl.doubtnut.com/l/_UykAZ110KB8l
https://dl.doubtnut.com/l/_rHgPpnbbanuv

3. Two adjacent sides of a parallelogram are 4.5 cm

and 3 cm. Find its perimeter.

o Watch Video Solution

4. In a parallelogram ABCD, the bisectors of the
consecutive angles angleA and angleB intersect at P.

Show that ZAPB = 90°.

o Watch Video Solution

5. AB and DC are two parallel lines and a

transversal | ,intersects AB at Pand DC at R . Prove


https://dl.doubtnut.com/l/_6PFKwSuB3uHe
https://dl.doubtnut.com/l/_y1yWWM75XmVc
https://dl.doubtnut.com/l/_leyRBuwdjqkP

that the bisectors of the interior angles form a

rectangle .

o Watch Video Solution

6. In a triangle ABC, AD is the median drawn on the
side BC is produced to E such that AD = ED prove

that ABEC is a parallelogram.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_leyRBuwdjqkP
https://dl.doubtnut.com/l/_R46q5vuWIfOb

7.In AABC, D, E and F' are the midpoints of sides
AB, BC and CA respectively. Show that AABC is
divided into four congruent triangles, when the three
midpoints are joined to each other. (ADEF is called

medial triangle)

° Watch Video Solution

8.1, m and n are three parallel lines intersected by the
transversals p and q at A, B, C and DE, F such that they

make equal intercepts AB and BC on the transversal p.


https://dl.doubtnut.com/l/_R46q5vuWIfOb
https://dl.doubtnut.com/l/_X7mJ3aAcn0Iy
https://dl.doubtnut.com/l/_pFt9yfRpt7Aq

Show that the intercepts DE and EF on q are also

equal.

° Watch Video Solution

9. In the Fig. AD and BE are medians of

1
A\ ABC and BE||DF .Prove that CF = 1 AC.

° Watch Video Solution

10. ABC is a triangle and through A, B, C lines are
drawn parallel to BC,CA and AB respectively
intersecting at P, Q and R. Prove that the perimeter of

APQR is double the perimeter of AABC.


https://dl.doubtnut.com/l/_pFt9yfRpt7Aq
https://dl.doubtnut.com/l/_drSLHFwtKiBx
https://dl.doubtnut.com/l/_SJvJa4FKHkoG

o Watch Video Solution

Think Discuss And Write

1. Show that the diagonals of a square are equal and

right bisectors of each other.

° Watch Video Solution

2.Show that the diagonals of a rhombus divide it into

four congruent triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_SJvJa4FKHkoG
https://dl.doubtnut.com/l/_RP3LG0K04mBa
https://dl.doubtnut.com/l/_mZKGEEQysCyI

1. State whether the statements are True or False.

(i) Every parallelogram is a trapezium ()

° Watch Video Solution

2. State whether the statements are True or False.

(i) All parallelograms are quadrilaterals ()

o Watch Video Solution



https://dl.doubtnut.com/l/_ndE1jJfO9yxK
https://dl.doubtnut.com/l/_P43iH7gITV8H

3. State whether the statements are True or False.

(iii) All trapeziums are parallelograms ()

o Watch Video Solution

4. State whether the statements are True or False.

(iv) A square is a rhombus ()

o Watch Video Solution

5. State whether the statements are True or False.

(v) Every rhombus is a square ()

o Watch Video Solution



https://dl.doubtnut.com/l/_2OkByyhVo39v
https://dl.doubtnut.com/l/_zYEY41wQQiCu
https://dl.doubtnut.com/l/_SZzgPpqpv12w

6. State whether the statements are True or False.

(vi) All parallelograms are rectangles

° Watch Video Solution

7. Complete the following table by writing (YES) if the

property holds for the particular Quadrilateral and


https://dl.doubtnut.com/l/_SZzgPpqpv12w
https://dl.doubtnut.com/l/_jv6MTgNaz4xl
https://dl.doubtnut.com/l/_HjzgsQ61NL4L

(NO) if property does not holds.

Properties Trapezium | Parallelogram | Rhombus | Rectangle sqnarei

a. Only one pair of opposite YES
sides are parallel

b.  Two pairs of opposite
sides are parallel

¢. Opposite sides are
equal

d.  Opposite angles
are equal

e. Consecutive angles
are supplementary

f  Diagonals
bisect each other

g Diagonals are equal

h  Allsides are equal

i Eachangleisa

' rightangle

o Watch Video Solution

8. ABCD is trapezium in which AB|| CD. If AD = BC,

showthat /A = /B and /C = /D.

° Watch Video Solution



https://dl.doubtnut.com/l/_HjzgsQ61NL4L
https://dl.doubtnut.com/l/_IBI2VPHHTTAf

9.The four angles of a quadrilateral are in the ratio 1
2:3:4. Find the measure of each angle of the

quadrilateral.

o Watch Video Solution

10. ABCD is a rectangle AC is diagonal. Find the nature

of AACD. Give reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_vZEnyUCk8Wl0
https://dl.doubtnut.com/l/_APzrc9XuZRqj

1. In the adjacent figure ABCD is a parallelogram ABEF

is a rectangle show that AAFD >~ ABEC.

F D E ¢

A

o Watch Video Solution

2.Show that the diagonals of a rhombus divide it into

four congruent triangles.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_yv6mvgN2bW4Z
https://dl.doubtnut.com/l/_S4ukgSU2NA1k

3. If a quadrilateral ABCD, the bisector of ZC/D

intersect at O.

1
Prove that ZCOD = E(ZA + /B)

o Watch Video Solution

1. The opposite angles of a parallelogram are
(3z —2)° and (x + 48)°.

Find the measure of each angle of the parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_S4ukgSU2NA1k
https://dl.doubtnut.com/l/_TAhMKndCIlaJ
https://dl.doubtnut.com/l/_0P5ZAzE6nnVs

2. Find the measure of all the angles of a
parallelogram, if one angle is 24° less than the twice

of the smallest angle.

o Watch Video Solution

3.In the adjacent figure ABCD is a parallelogram and E
is the midpoint of the side BC. If DE and AB are

produced to meet at F,show that AF' = 2AB.



https://dl.doubtnut.com/l/_0P5ZAzE6nnVs
https://dl.doubtnut.com/l/_PAw5tpfilako
https://dl.doubtnut.com/l/_wSzOIQOo51Pt

o Watch Video Solution

4.In the adjacent figure ABCD is a parallelogram P and
Q are the midpoints of sides AB and DC respectively.

Show that PBCQ is also a parallelogram.

D 0 C

e

o Watch Video Solution



https://dl.doubtnut.com/l/_wSzOIQOo51Pt
https://dl.doubtnut.com/l/_e4KItDj0bAK5

5. ABC is an isosceles triangle in which
AB = AC.AD bisects exterior angle
QAC and CD||BA as shown in the figure. Show
that

(i) £DAC = /BCA

(i) ABCD is a parallelogram

/IQ

° Watch Video Solution



https://dl.doubtnut.com/l/_GiKbKrxpM30C
https://dl.doubtnut.com/l/_duGMGTCt1wF3

6. ABCD is a parallelogram AP and CQ are
perpendiculars drawn from vertices A and C on
diagonal BD (see figure) show that

(i) AAPB = ACQD

(i) AP = CQ

° Watch Video Solution



https://dl.doubtnut.com/l/_duGMGTCt1wF3

7. In
A°ABC and , AB||DE, BC = EF and BC||EF.
Vertices A, B and C are joined to vertices D, E and F
respectively (see figure). Show that

(i) ABED is a parallelogram

(ii) BCFE is a parallelogram

(ili) AC = DF

(v AABC =~ ADEF

A D

C

o Watch Video Solution



https://dl.doubtnut.com/l/_r1lyYs4I2xhv
https://dl.doubtnut.com/l/_rJs52RSpCtZa

8. ABCD is a parallelogram. AC and BD are the
diagonals intersect at O. P and Q are the points of tri
section of the diagonal BD. Prove that CQ ||AP and

also AC bisects PQ (see figure).

° Watch Video Solution

9. ABCD is a square. E, F, G and H are the mid points of

AB,BC,CD and DA respectively. Such that


https://dl.doubtnut.com/l/_rJs52RSpCtZa
https://dl.doubtnut.com/l/_JTIYR5TPGMZi

AFE = BF = CG = DH. Prove that EFGH is a

square.

o Watch Video Solution

1. ABC is a triangle . D is a point of AB such that

1 . :
AD = ZAB and E is a point on AC such that

1
AFE = ZAC. If DE = 2¢m find BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_JTIYR5TPGMZi
https://dl.doubtnut.com/l/_SNjRzbspzKVb

2. ABCD is quadrilateral E, F, G and H are the midpoints

of AB, BC,CD and DA respectively. Prove that

EFGH is a parallelogram.

o Watch Video Solution

3. Show that the figure formed by joining the
midpoints of sides of a rhombus successively is a

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_nAHbZXCX6SAg
https://dl.doubtnut.com/l/_nfHDKr0VGCJw

4. In a parallelogram ABCD, E and F are the midpoints

of the sides AB and DC respectively. Show that the line

segments AF and EC trisect the diagonal BD.

D

I~
I

\\ 4
P

I
| &

v

E,____ C
V4

A F

J

° Watch Video Solution



https://dl.doubtnut.com/l/_jjUB5ZWY0c0d

5. Show that the line segments joining the midpoints
of the opposite sides of a quadrilateral and bisect

each other.

o Watch Video Solution

6. ABC is a triangle right angled at C. A line through
the midpoint M of hypotenuse AB and Parallel to BC
intersects AC at D. Show that

(i) D is the midpoint of AC

(i MD 1 AC


https://dl.doubtnut.com/l/_qmxENWgFCkZc
https://dl.doubtnut.com/l/_Zvw0tnaeynXo

1
(i) CM = MA = EAB'

®
*] "
o

o Watch Video Solution

Exercise 8 1 State Whether The Statements Are True Or

False



https://dl.doubtnut.com/l/_Zvw0tnaeynXo

1. State whether the statements are True or False.

(1) Every parallelogram is a trapezium ()

o Watch Video Solution

2. State whether the statements are True or False.

(ii) All parallelograms are quadrilaterals ()

o Watch Video Solution

3. State whether the statements are True or False.

(iii) All trapeziums are parallelograms ()

o Watch Video Solution



https://dl.doubtnut.com/l/_LN9mvjs3ZVKq
https://dl.doubtnut.com/l/_e7wyYF2GRX4h
https://dl.doubtnut.com/l/_oQefnnTTlABV

4, State whether the statements are True or False.

(iv) A square is a rhombus ()

o Watch Video Solution

5. State whether the statements are True or False.

(v) Every rhombus is a square ()

° Watch Video Solution

6. State whether the statements are True or False.

(vi) All parallelograms are rectangles


https://dl.doubtnut.com/l/_oQefnnTTlABV
https://dl.doubtnut.com/l/_flENYEbpFI9a
https://dl.doubtnut.com/l/_GXLStrevdqIu
https://dl.doubtnut.com/l/_NOoINU9f2vQ1

o Watch Video Solution



https://dl.doubtnut.com/l/_NOoINU9f2vQ1

